Patent Pending

E2 Indirect/Direct Linear & Configuration With 6" Canopy FINELITE
Driver Replacement Instructions Better Lighting
Overview

All power connections should be installed according to
local/national codes by a Certified Electrician.

OFI0

| B

0-10v
Dimming

Low Profile T-Bar Power Supply Box (P01) Large Capacity T-Bar & Drywall Power Supply Box (P02) Retrofit T-Bar & Drywall Power Supply Box (P03)
Page 2 Page 3 Page 4

A brand of L".l |egrand“ This is a hypothetical build to show the capabilities of this luminaire family and mount type. Your build may vary. Finelite, Inc. « 30500 Whipple Road * Union City, CA 94587-1530 « (510) 441-1100  Fax: (510) 441-1510 » www.finelite.com 1 Of 4

12/0k :31vA FAILIF44T GA 0€P86 - W04 "0IAHISIH SLHIIY TV "ONI ILITINH +202 @



E2 Indirect/Direct Linear & Configuration With 6" Canopy FINELITE
Driver Replacement Instructions Better Lighting
Low Profile T-Bar Power Supply Box

A. Remove #10-32 x 1/4" Screw RIJRUE B. Remove Driver Assembly IR C. Remove & Replace Driver ESIERVUEN

#10-32 x 1/4" i
#10-32 x 1/4" Screw (provided) Driver Assembly l 0-32 x 1/4 Screw (provided)

Driver

W
Driver Sled

« Remove #10-32 x 1/4" screws from driver assembly.

« Remove old driver and replace with new driver.

Driver Assembly Low Profile T-Bar Power Supply Box + Replace #10-32 x 1/4" screws.

 Reconnect wires to driver.

« Replace driver assembly back into low profile T-bar power supply box.
 Turn power off to luminaire. « Remove driver assembly from low profile T-Bar power supply box.  Replace #10-32 x 1/4" screw to secure driver assembly.

» Remove #10-32 x 1/4" screw from driver assembly. « Release wires from driver. « Turn power on to luminaire.

#10-32 x 1/4" Screw
(provided)

2 of4

12/0k :31vA FAILIF44T GA 0€P86 - W04 "0IAHISIH SLHIIY TV "ONI ILITINH +202 @



E2 Indirect/Direct Linear & Configuration With 6" Canopy
Driver Replacement Instructions

Large Capacity T-Bar & Drywall Power Supply Box

FINELITE

Better Lighting

A. Access Driver Assembly ESIERULAN

Collar ﬁ:
Electrical Cover -
#6-32 X 3/16" Screw —a
(provided) |
Canopy ]

 Turn power off to luminaire.

» Remove canopy to uncover electrical cover.

» Remove #6-32 x 3/16" screws to release electrical cover
from collar.

CAGENDTERATEESEND Bottom-Up View

#6-32 x 3/16" Screw
(provided)

Driver Assembly

'ﬁo@l

Gantry
Crossbar

Wire

#8-18 x 1/4" Screw Power Feed

(provided)

Luminaire 4{

 Loosen #6-32 x 3/16" screws and slide gantry crossbar aside

to access driver assembly.

» Release wires from driver.
» Remove #8-18 x 1/4" screw.
» Remove driver assembly from power supply box.

(W CHETHR T Side View

l#1 0-32 Kepnut (provided)

‘ Driver

= :T: ERY
Driver Sled

« Remove #10-32 kepnut to release driver from driver sled.
« Remove old driver and replace with new driver.
» Replace #10-32 kepnut to secure driver.

DRGETEHDIATE S0 Bottom-Up View

| «-<l Q— Driver Assembly

#6-32 x 3/16" Screw
(provided)

Gantry Crossbar

Slide driver assembly back into power supply box.
Secure with #8-18 x 1/4" screw.

Reconnect wires to driver.

Slide gantry crossbar back and secure by tightening
#6-32 x 3/16" screws.

« Replace electrical cover and canopy.

Turn power on to luminaire.

Electrical Cover

#6-32 x 3/16" Screw #8-18 x 1/4" Screw = #10-32 Kepnut
@ (provided) @ (provided) (provided) (provided) (provided)

/.\ Canopy

3 of 4

12/0k :31vA FAILIF44T GA 0€P86 - W04 "0IAHISIH SLHIIY TV "ONI ILITINH +202 @



E2 Indirect/Direct Linear & Configuration With 6" Canopy FINELITE
Driver Replacement Instructions Better Lighting
Retrofit T-Bar & Drywall Power Supply Box

A. Access Driver Assembly B ERUTEAN CRGETOTERINTE @SN Bottom-Up View (P CHETHRUGEI M Side View DR CTETCIDIATCT ST Bottom-Up View

Wire Driver Assembly

#8-18 x 1/4" Screw #10-32 Kepnut (provided) /
Collar (provided)
‘ Driver Driver Assembly
Electrical Cover © © #6-32 x 3/16" Screw \
O (provided) = —

© i ; o 0O O N
#6-32 x 3/16" Screw ———e@g, Q 0@ le ij Gantry Crosshar 2 Q #6-32 x 3/16" Screw °ol, ﬂ
(provided) = | [

: i : r (provided) e
|
Luminaire _+ Driver Sled Gantry Crossbar

Slide driver assembly back into power supply box.
Secure with #8-18 x 1/4" screw.

Reconnect wires to driver.

Slide gantry crossbar back and secure by tightening

Loosen #6-32 x 3/16" screws and slide gantry crossbar aside to
« Turn power off to luminaire. access driver assembly.

» Remove canopy to uncover electrical cover. * Release wires from driver. « Remove #10-32 kepnut to release driver from driver sled. #6-32 x 3/16" screws.
» Remove #6-32 x 3/16" screws to release electrical cover » Remove #8-18 x 1/4" screw. « Remove old driver and replace with new driver. « Replace electrical cover and canopy.
from collar. » Remove driver assembly from power supply box. » Replace #10-32 kepnut to secure driver.  Turn power on to luminaire.

#6-32 x 3/16" Screw #8-18 x 1/4" Screw == #10-32 Kepnut , Ganopy
@ (provided) @ (provided) (provided) (provided)

4 of4

12/0k :31vA FAILIF44T GA 0€P86 - W04 "0IAHISIH SLHIIY TV "ONI ILITINH +202 @



